
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

3859.9 × 0.0001 = ________ 2889.8 × 0.001 = ________

6995.3 × 0.1 = ________ 4543.5 × 0.01 = ________

2640.2 × 0.01 = ________ 3261.2 × 0.0001 = ________

7452.5 × 0.0001 = ________ 4133.8 × 0.01 = ________

5320.6 × 0.0001 = ________ 1946.8 × 0.1 = ________

1810.8 × 0.001 = ________ 4297.8 × 0.0001 = ________

5976.4 × 0.001 = ________ 6295.9 × 0.1 = ________

4477.3 × 0.001 = ________ 3212.6 × 0.001 = ________

3807.7 × 0.1 = ________ 2678.7 × 0.001 = ________

9859.4 × 0.1 = ________ 4863.8 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

3859.9 × 0.0001 = 0.38599 2889.8 × 0.001 = 2.8898

6995.3 × 0.1 = 699.53 4543.5 × 0.01 = 45.435

2640.2 × 0.01 = 26.402 3261.2 × 0.0001 = 0.32612

7452.5 × 0.0001 = 0.74525 4133.8 × 0.01 = 41.338

5320.6 × 0.0001 = 0.53206 1946.8 × 0.1 = 194.68

1810.8 × 0.001 = 1.8108 4297.8 × 0.0001 = 0.42978

5976.4 × 0.001 = 5.9764 6295.9 × 0.1 = 629.59

4477.3 × 0.001 = 4.4773 3212.6 × 0.001 = 3.2126

3807.7 × 0.1 = 380.77 2678.7 × 0.001 = 2.6787

9859.4 × 0.1 = 985.94 4863.8 × 0.1 = 486.38
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